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1. Do NOT open this question book until instructed by the supervisor,
2. Right after you are instructed to start the examination, fill in your program, and

identification number on the answer sheet.
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B4 1. Question-1

ARE, BOAFEEOMICHDIEDER - EEHEEZRS. ARMEFOEYIZ. i
AEANSERCAVNEWS, RAGVLDDERGEEAH S, O - B0
BEMELTRLMAELVELDETRED (A) »id (B) OFMGHEELVBIOZE
—DRVESL, 4 R)

Human beings have an invisible psychological space or distance that they want
to maintain with other human beings, not wanting to allow others into their
emotional territory. Choose the most appropriate name of this space or distance

from (A) to (E) below. (4%)

(A) Ea—<2R5—IL
(B) BERX47r—I1L

(C) N—VFILAR—R
(DY PA=T4

(E) EBENFEIE

(A) Human scale
(B) Body scale

(C) Personal space
(D) Amenity

(E) Cognitive area
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i 2. Question-2

1902 iR & hi- [BAHOBEBEHT] (&, H;H (B, BE FESLHE)
CHE (ELE, HFfLES. BERELL) OmBOHNEAEEZTEA3HHOEY
AVERRLE, COEAR. 3DOMEORTHASIA, TALZETEIATLD
M EVSEBWNMIER =,

OEDEBFTCHY. FTHERTHY. HEHTESORBEILHEDL, RO
(A) ~ (E) D5 ELWLWHDZE 1 DRULZSL. 4 R)

Published in 1902, "Garden Cities of To-morrow" offered a vision of towns
enjoying the benefits of both town (such as opportunity, entertainment, and high
wages) and country (such as beauty, fresh air, and low rents). This idea was
illustrated by the three magnets diagram, which addressed the question, "Where
will the people go?"

Who is the author of this book, an urban planner, and the founder of the garden
city movement?

Choose the correct answer from (A) to (E). (4%)

(A) Octavia Hill

(B) Frederick Law Olmsted
(C) lan McHarg

(D) Ebenezer Howard

(E) Raymond Unwin
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8 3. Question-3
HHEERRICEATIROXEOHRMNS, RIBFVDLEELOF—IRULZ S, 4 F)

Select one most appropriate sentence about forest ecosystem from (A) to (E). (4%)

(A B EBUABEROEYFREBEBAT S,

(B) AXRDIFEAEDHEREABBROHEEEZRITTE,

(C) BRADHEMIELEBOESREZLSHTNS,

(D) FHRAOEWE., HOEBIEDLY B ENENET - ERLTW S,

(BE) XEMY—EXRE. FHEBRIRERITIEBRF—EXIZRKEENLELEL,

(A) Biological communities in forest ecosystems consist of animals and plants.
(B) Most forests in Japan have been affected by human activities.

(C) Forests in Japan cover less than half of the country's land area.

(D) Organisms in forests inhabit independently not having relatlonshlps with

each other.
(E) Cultural services are not included in the ecosystem services provided by

forest ecosystems.
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B4 . Question-4
HEEERICET AELVGRAEZ., TREOXA)~EMNS—2BUL S, 4 H)

Select one correct description about planting ground from the following sentences
(A)to (E). (4%)

(A)EC (ZLIEDORBEDIEETH S,

(BY BEHKSIL pF4.2 LY HLBWNEAKBTERESN K TH D,
(C)CIN b AMELNEETIIERNENEZ 5,

(D) pH IEKFRA F VEENEWNMEEBIMER LS,

(E) TIREEIXLIENFORBENKENIEBIMERIZH B,

(A) EC is an index of soil fertility retention.

(B) Available water is water retained at pressure head weaker than pF4.2.

(C) Nitrogen starvation occurs in soils with low C/N ratios.

(D) The higher the hydrogen ion concentration, the lower the pH.

(E) Soil hardness tends to increase as the particle size of soil particles increases.
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5. Question-5

Mp— R TSR] &IE TAYIDHEEREE LA - AT =58, 1980 £
CRIELEBETHS. COTH—FTLA R ICETHXETELLEDE 1D
BULE. (4 /)

"Third Place" is a concept proposed by the American sociologist Ray Oldenburg
in 1989. Which of the following sentences about "Third Place" is correct? (4%)

(A) TH— FFLAR] F3EUEFRENGNE, TOPREHELARL,

(B) TH— KL AR ELiF. BETHLBREBTLRL., BUDMOWVWWEBROZ LT
H5.

C) TH— KL A X] 2 <{E DAL, X FLROEL,

D) DEIETH—FILARIITETEELIN, h 72 0BEEBRYTRHELLR
LYo

(E) TH—F L4 X (&, 3L LOZRIZEEINGITHIEL S0,

(A) "Third Place" must be used more than 3 times to obtain its effect.
(B) "Third Place" is a comfortable place that is neither home nor work.
(C) People with many “Third Places” have high stress.

(D) Parks will become a "Third Place”, but cafes or pubs do not.

(E) “Third Place” must be located on the 3rd floor or above.
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1. Do NOT open this question book until instructed by the supervisor.

2. Right after you are instructed to start the examination, fill in your subject, program, and
identification number on the answer sheet.

3. If examinations are not taken in the designated subject, you will be disqualified.

4, When you use two or more answer sheets, write your subject, program, and identification

number on each sheet.
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